Comments and ‘tips’ for Module 5
Module 5 is a culmination of the course. Since you have completed all the work for the course so far, you note that you have learned the concepts of the time value of money, present values and apply these concepts and the meaning of present values to financial decisions, the value of securities – stocks and bonds, the concept of the yield to maturity and the effects of interest rate changes on bond prices, several models or explanations on the determinants of stock prices, the extent to which a financial manager can affect stock prices or the value of the firm (the enterprise) by choosing an appropriate capital structure or ‘financing mix’, and the concept of the cost of debt, the cost of equity and the weighted average cost of capital.

I wish to emphasize that when you were asked to perform computations or to estimate the cost of capital for your company that assignment was not for the sake of having you practice computations. The cost of capital, or more precisely the WACC (Weighted Average Cost of Capital), is an INPUT. It is a TOOL that companies must assess and estimate from time to time. Companies and CFO’s use the WACC in the process of evaluation the potential contributions of proposed investment projects to the (present) value of the organization, and more importantly – to the value of the shareholders’ investment in the organization. This is done in the process of Capital Budgeting that is the subject of the fifth Module of the course. 

The process of capital budgeting is complex mainly because the information and the estimation of the cash flow involved in a project proposal is coming from numerous individuals in the organization who don’t necessarily speak the same language. This is the main reason why companies have prepared and are using extensive manuals for project preparation and evaluation.
Consider a proposal to start a new production manufacturing plant by the company. The required investment ‘data’ comes from engineering who can propose what the physical requirements might be in term of machinery for the new plant. In many cases engineering does not have the complete knowledge of the full investment cost involved in the proposed project. These estimates may come from the purchasing department of the company that must of course communicate with engineering. The two do not always see eye to eye and understand the concept of ‘cost’ in a different manner. These estimates will eventually be communicated to the cost accounting department of the company.
Now to the estimation of the cash flow that might emanate from the investment: Marketing or Sales will probably be involved in forecasting potential sales over the next few years (the ‘life’ of the investment). These people might be able to even forecast the possible selling price of the output that will result from the investment. On the other hand in most cases they have no clear idea about the ‘cost of goods sold’ or about the correct incremental cost that is required in order to produce and sell these additional products. Accounting (cost accountants) may be involved in the estimation of these incremental expenses but there’s a constant need of communication between different individuals who come with different set of concepts and ideas about how to estimate or project different quantities and prices. At some stage the tax experts of the company also get involved because of the complexities of the tax laws that govern every ‘for profit’ business.
It is therefore that when we talk about capital budgeting we are actually talking about a process, or a procedure that is required in order to finally arrive at what is called: The after-tax cash flow (ATCF) of the project, year by year.  We also try to estimate the final value of the investment after a certain number of years, and we term this ‘the residual value’ of the project. This involves an assumption that at the end of the period the company can indeed sell what is left for a certain price and receive cash for this sale. In many cases companies assume that the residual value is zero but the issue must be dealt with on a case by case basis.
The after tax cash flow is then evaluated and the NET PRESENT VALUE is computed using the company’s WACC. The WACC is a measurement of the (interest-equivalent annual) cost of financing new investment  using ‘cocktail’ or a mix of financing – similar to today’s market-value capital structure. We assume that the company’s present financing mix is ‘optimal’.

If the NPV is positive then undertaking the proposed project should raise the immediate value of the equity of the company (shareholders’ value) by an amount that is equal to the NPV of the proposed project.

Now to the Case and the SLP.
THE CASE

The first part of the case is nothing but a simple ‘practice run’ to prepare a cash flow and compute its NPV using a given WACC. 

In the second part you are require to review an article and then reflect and write a ‘Report to Management’ about how you would adjust an investment proposal file if suddenly you wake up tomorrow morning and you had a wild dream that from now on, there will be an inflation that will exceed the present day rather trivial rate of inflation. For information about the recent inflation experience you can go to:

http://www.inflationdata.com/Inflation/Inflation_Rate/CurrentInflation.asp )
Note that inflation expectations are already reflected in interest rates, in the cost of equity, and also in the WACC. If tomorrow we’ll all believe that inflation in the next few years will be, say, 10% per year, then we’ll see yields to maturity on Government bonds rising quickly to around 14% instead of today’s YTM on these bonds, the cost of fresh debt will rise to reflect these inflationary projections, and so will the cost of equity and the WACC. 

Let me re-emphasize: The WACC is a measurement of the (interest-equivalent annual) cost of financing new investment  using ‘cocktail’ or a mix of financing – similar to today’s market-value capital structure. We assume that the company’s present financing mix is ‘optimal’. (Read this statement again, and again…)
You are asked to reflect on these, explain what should be done to the cash flow projections and what the effects of these adjustments might be on the proposed projects NPVs.

The SLP

Here you have an opportunity to indeed put all things together. Actually almost everything you learned in this course comes together in the final part of the Session Long Project.

You are given projections about a project. The undertaking of the investment will require three years: The project requires an immediate investment or 20,000 now.
The investment can be depreciated for tax purposes over a period of 4 years. Hence, at the end of the first year you can show a depreciation of 20,000/4 = 5,000, at the end of the second year you can show a depreciation of the same 5,000. The same applies to year 3 and 4. By year 5 the balance sheet value of the machinery and equipment investment is zero and therefore in year 5 that part of the investment can no longer be depreciated form tax purposes. [Every year during years 1, 2, 3 and 4 your company will ’receive’ a tax ‘rebate’ that is equal to the annual depreciation, times the tax rate of 0.34 (34%).]
You then go on to construct, year by year, the after tax cash flow emanating from the investment. You should subtract from each years’ after tax cash flow the amount on investment that is required in that year.

You should get a final ATCF line for each of the seven points in time:

	Time
	0
	1
	2
	3
	4
	5
	6

	ATCF
	-20,000
	ATCF1-
	ATCF2 – 
	ATCF3
	ATCF4
	ATCF5
	ATCF6 + 7,000 minus tax on the sale of the residual value


You then use your own company’s WACC in order to compute the Net Present Value of the proposed investment.

It would add value to your report if you write a short ‘executive summary’ telling top management how you constructed the projects cash flow, how you computed the NPV, and whether you recommend that the investment should be undertaken by your company or rejected.
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